O 2-HoNA x of 27

D 7+8V2 @ 7+8V3 ® 8+8V2
@)s+sv3 ® 9+8v2

~&B

ﬁ:16c0360°:16><%=8

D_C:E:wsmﬁm:mx‘/;:s«/ﬁ

x=BD+CD=8+8V3
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the L”OlA x4y o] g0

®8v3 @ 9v3 @10«3
@ 11V3  ® 123

~&B

10 20V3

cos30° 3
y=10><tan30°=10><i:ﬂ§
V3 3

Lx4+y=10V3




eI 2 YPAAF Wol & Tt
w

@ 41V2 @ 42VZ2 @ 43V2
@ uvi )52

0% 10 x sin 45° = 9 x 10 x Y2
=452




@ 54 @ 46 @56

(5ol) = 72 x 8 x sin 45°

5
=7x/§x8x‘/7_=56




D (1)22V2,(2)43V3 @ (1)22V2,(2)45V3
® (1)22V2,(2)48 V3 @ (1)24V72,(2)45V3
@(1)24«/5, (2)48 V3

B

(1) (Wo]) = 6x8xsin4d5°

5
=6><8><\/?_:24\/§

1
(2) (deol) = 3 X 12x16 sin(180° — 120°)

:%x12x16x%§:48\/§




® x=5sin20°,y=

Yol x| Ha%%oi 2 7}
]

sin 20°

= n520° ,y=5 si; 20°

@ x= tan520° YT COS520°
@ x= cos520° Y s1n520°
@)= tan20° °  sin20°

tan 20° = § , sin20° = g,cos 20°
X y




o 283 22 AABC oA /B =85°, /C =
65°, BC =12 & o, AB ] Ao]& &4 o
A Z42]7kA] eHE? (T sin 65 ° = 0.9063)

A

® 20.153 @21.751 B 22.482
@ 23.581 ® 24.372

B

/A =180°-(85°+65°) =30°
BH = 125in65° = 10.8756

BH
sin 30 °

. AB=

= 10.8756 x 2 = 21.7512




S A7 ABC ol 1A =34°
o, &=0] BC & #51H? (&, sin34° =
0.5592, cos 34° = 0.8290 )

ko)

@ 20.141cm @ 21.523cm

@)22.368em @ 23.694cm

® 24.194cm

BC
i 40 = —
sin 3 10

- BC = 40 x 0.5592 = 22.368 (cm)




oh& TelA] RH ©] Zolg a7

D V2em ® V3cm @Qﬁcm
@ 3+v3cm ® 443cm

~&B

— 4
AH =
tan (90°4— 30°) — tan (90° — 60°)

- tan 20" — tan 30°

= \/5_% =23 (cm)
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oh& 1R} o ik gafshs et

S Aol &) A@] 7} 21 m o] 2L, Hjol|A] %

7
rm
\

Fnl

59 B)7|2 utet & zte] 277}
15° o] glehel, S 9] ol

@21 tan 15°m

@ 21sin15°m ® cos15°m

® tanl5°m

~--2lm--

@ sinl5°m

tan 15° = 2—)“1 o]B & x = 21 tan15°m ©|T}.




11. o2 232 HPAPAE ABCD of| A A
AB = 6cm , BC = 10cm , /BCD = ,/
20° & AC 9] do]? 6 cm
120° ¢ wj, AC 9] Zo] : 190°
Bl k
O V67 @ 71 e oem -
@2@ @ V86
® 95
7 A o)A BC o & 49 2-& H 2t & uf
E:GXSin60°:6x\/T§=3\/§
ﬁ:6><c0560°:6x%:3 ~CH=10-3=7
AC. = AH + CH o|H AC = V2749 = V76 = 219
oJtt,




12. o2 7383} 72 AABC 9|4 =o] h & F51H?
A
Bc
@10(«/5—1) (@)10(«/5—1) @10(«/‘-@)
@ 10(2v2-1) ® 10(v2-2)
B8
20

h =
tan (90°2 — 45°) + tan (90° — 30°)




13. o3 "2 59| =olE Yotk 7] flof 57435 Axfolrt.
Eol=?
@® (3-V3)m @ (3V3-3)m ® (4V3-1)m

@ (4V3+1)m @(3\/§+3)m

Ste] =olE h 2 otH

/CBH = 45° o|BE2 BH = h

(CAH = 30° 0|2 &

64+h:h=+v3:1, V3h=6+h

(V3-1)h=6
6

S h=
V3-1

=3(V3+1) =3V3+3(m)




14.

thx I3 Zo] AB & AE2=
%‘30%94’3&@ CE Av= 4

< O o

I 2|5 AB o] QAT wHS
g} 5}, AB = 4cm (BAC = 30
o o, ACBD 2] Yo]&?

D 242 (cm2) (@)\/3 (cm2
@ 33 (cm?) ® V5 (cm?)

3 32 (cm?

)

B

/BCD = /BAC =30°

/ACB =90° °]2=2 /ABC = 60°

ACBD ©f|A

/BDC = /CBA - /BCD =60°-30° =30°

- 1
g BD:BC:4sin30°:4X§:2 (cm)
. (ACBD9] HoJ)
:%x2x2><sin(180°—120°)

— V5 (em?)




tan B
® a=ccosB

@c =asin (90° - B)

® c=bsinB+acosB

B

b b
1 B:— =
Ot c ¢ sin B
b b
tan B = — ; =
@ a tan B
@COSBZC—I . a=ccosB
c
® A C oA AB ol & =42 TS H 2 5tH cosB =
BH _
— .. BH =acosB
a
AH —
cos(90 — B) = - . AH=>bsinB

~ ¢c=AH+BH = bsinB +acosB




16. & I9¥o)A BC = 20, /B = 120°
o] AABC 9] Hol71 403 & i, AB
o] Zo|& L35}H?
o] Aol & st 51

~

8 Ty
'
Y
o5}
!
I
I ]
1
[a]
o
1
\
\
\
\
(@]

@)s @1 012
@ 13 ® 14

B ~

1
5 XXX 20 xsin(180° - 120°) =403

%Xxx20><sin60°:40\/§, 10x><\/7§ — 403

5v3x =403
w2bA] x = 8 o]t}




17. o I3 22 AABC ol AB =6, ,
BC=100°]2, Yo7k 15v3 L o, /B 9] |
2717 (¢, 90° < /B <180°) 6
D 95° @ 100° (@)120°
@ 135° ® 150°

~&B \

T H9] Zdol7t g,b 013 T 7R 7} x 7F EZO] |,

A7k o] ol 5 — %absin(lSO" )
%xleGXSin(180°—AB) = 15V3, 30sin(180° - /B) = 15 V3
wh2hA sin(180° — /B) = V3 _ in60° , /B =120° o[t}

2




18.

A D
/S 7
.8

®3 @3V ®30V ®32v2 O 32V

~&B

(BAAME ABCD o] Hol)

X 10 X 6 X sin45° X 2

V2

1
=-X10X6X — X2
2 06 2

=30v2

1
2

A D

v

B~——0——-=¢C




7%9)

s
=27

19. o2 293 Zo] §12]59] Zo]7} 10em Q1 Yeofl o= A=

HolE Fotolel,

(@)200 V2 cm? @ 200 V3 cm?

@ 200 cm?
@ 2022 cm? ® 202 V3cm?
360° + 8 = 45°
1
(AAOH ¢ Ho])= 5 X 10X 10 x sin 45 co|E g
V2

e 1
(B9 %‘Ol)=§x10x10x7xs

=200 V2 (cm?)




20. o 93 Zo
6, /ABE = 45° ¢l
AZY715 9] ROl =2

® 126 @%‘/6 @ 48

@ 686 @)

BE = 8 X cos45° = 42
1
AZ715 0] HE 4V2x4V2 X 5 x 6 =96 ot




21. T8 1389 AABC |4 AACH 82| Zo]=?

2(2+ V3 + V6) @ 2(2+ V2+ V)
203+ V3+ V7) @2(2+\/§+«/7)
2(2+ V3 - V7)

~&B

CH 9] Zo]= 4 xsin60° = 2V3
AH 9] Zol=6-BH=6—4cos60° = 4

AC o] ol /42 + (2V3)2 =27

wehd AACH E7]9] Z0]= 2344427 = 2(2+ V3+ V)
o},




22. T3 1989 AABC °|A AABH &89 Zo]&=?

!'Ii“1o\
BE—L: Sc

I N

D 5-2V3+ V37 @)5+ 23+ V37
® 5+2V3- V3T @ 5+3V2+ V3T

® 6+2V3+ V37

B

AH = 10sin30°=5
BH=7vV3-CH=7V3-10c0s30° =23

AB = /521 (2V3)2 = V37

wr2tA AABH E89] Zol& 5+ 2V3 + V37 ol




23. o2 e AABC 94 BC

o] Aol&?
11V6
O 3
@ 4+6cm
5 136

3
@4
® 5+v6cm

cm

cm

B

75°

=~

~~-1l4cm----""

BC = xzt o4,
14 sin 45° = xsin 60°
V2 V3

14x — = -
><2 )c><2

Lo 14V2 14V6
V3 3

(cm)




24.

T2 aABC 9| Eol& Foh= A
Ao dRRolth o2 +b? 9 FE
ThE?
<30 157
B (i
AH = netotd
BH =axh, CH bxh
o] o, BH + CH = 10°]|2&
h(a +b) = 10
@ 2 @)+ ® 6 ® 8 ® 10

B )

/BAH = 60°, /CAH =45° 0|25
BH = tan60°x h, CH = tan45° X h
a=tan60°= V3 °]1 b =tan45° =1
a4+ b’ =4




25. 23 &2 AABC o4 AH
(7

= E
o] ol

O

@® 4(V3-1)em @ 5(V3-1)cm ® 6(V3-1)cm
(@)7(@— 1)cm ® 8(V3-1)em

14
tan(90 °14 30°) 4 tan(90° — 45°)

@

~ tan60° + tandb°
Ii4 + tan

T VB+1
_14(V3-1)
3-1

(V3 -1)(cm)




26.

the 3 22 AABC 7} 9t AB =
20cm 2t & o, x o] do]&?

D 8+v3cm @ 9v3cm
@10 V3em @ 11vV3cm

® 12V3cm

BC = 20cm©®]1/CBD = 60°0| B2

3
x = 20 X 5in 60° = 20 x \/7_ = 10 v3(cm)




27.

@ (1)12,(2)12V3
@ (1)14,(2)9V3

1
(1) (Hel) = 5 X 4x14xsin30°

1 1
= —X4x14dx-=14
2 2

1
(2) ("o]) = = x2x 10 x sin(180° — 120°)
= 5><2><10><sin60°=5«/5




28. U2 AAE SollA Wolrt 2 &AdZ e A2 (&, V3 =1.732
2 Akt )

® 6,06 ®@e06 ® 9,0,0

1 1
= — 4 - =
@M 2>< ><7><2 7
1 3
©s=§x6x4x‘/7_:6«/§=10.392
1 3
©S=§x5x5x‘/7_=10.825




29.

o2 183 22 uE 2 ABCD
o] Wol7t 123 ¢ wf, utE R 2
QtHOl dolE x 2t olH x2 & F
SHH?

@ 10 @ 15 ® 20 @24 ® 25

x X xxsin(180°—120°) = 12V3
x? x sin60° = 12V3

x2x‘/7§=12\/§

x? = 24 o]t}




30. o2 132 AABC oA £A: /B: /C =
3:4:50]1 ¢ 0 9 gz Fe] Zol7t
24cm € 9], AABC 9] ¥lo]=?

@ 264 (2+ V3

(2+ V3)
@114 (3+ V3)
® 149 (2+ V2)
(2+ V3)
(3+ V3)

288 (2 + V3
® 288 (3+ V3

B

(A:/B:/C=3:4:50B2

/BOC = 90°, /ZAOC = 120°, Z/AOB = 150°
(AABC9] Hlo])

= AAOB + ABOC + AAOC

1
+ 5 X 242 x sin (180° ~ 120°)

1
=5 242 x (sin 30° + sin 90° + sin 60°)

1 1 V3
= x22x | Z+14 —
2>< x(2—|— +2>

=144 (3+ V3) (cm?)

1 1
=3 242 x sin (180° — 150°) + 3 X 242 x sin 90°




31.

—_

O 293 Zo] ¥rx]F 9] Zdol7t
4em 91 Y O o WHSH= AABC A4
/BAC = 75° 4 o], AOBC 9] Hol&
-otofatf,

¢

ol

® 2cm? @ 3cm? G@)Zlcm2
@ 5cm? ® 6cm?

B

/BOC = 75° x 2 = 150°
ot2tx] AOBC 9 Wole

1
3 X 4 x 4 x sin (180° — 150°)

:%x4x4x%:4(cm2) o]},




32. A7hIE ol-galo] 42471y ABC 9|

2 sin AtanA
@ % @ acos AtanA

@ asin AcosA @ a?sin AcosA
a® sin AcosA
@

BC =axsinA , AC=axcosA o|2&
a? sin AcosA

(AABC 9] Ho])= —><AC BC = 5




33. oS 13olA AABC 9] HolE F5}9]
2},
@ 24+4V3 @24+8\/§
® 48 +4V3 @ 48 + 83
® 484+ 16V3

B

AH = 8cos60° =4

BH = CH = 8sin60° = 43
AC=AH+CH=4+43
et AABC 9] Yol

% X 8 X (4+4\/§) X sin60° =
24 + 83 o]t}




